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Addizioni e sotrazioni con i numeri negativi Nome:
Risolvi ogni problema. Risposte
) (-3)-1=
1,
2) 4-(-2)=
2.
3) (-3)-9=
3,
4) (-96) - 68 =
4,
5) 584+ (-211) =
5,
6) (-459) + (-635) =
6.
7) 533-(-589) =
7.
8 (-1)-(-7)=
— 8.
9 71-(-50) =
9.
10) (-504) + (-133) = 0
10.
11) (-3)+8=
11.
12) 354-(-322) =
12
13) (-84) +29=
13.
14) (-6)+9=
14,
15) (-1)-(-5)=
- 15.
16) 9- (-6) =
9-(6) 16.
17) (- -6) =
(1) + (-6) -
18) 6 - (-3) =
6-(3) 18.
19) (-908) - (-991) = "
20) 902 + (-347) =
20.
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ﬂh Addizioni e sotrazioni con i numeri negativi Nome: Soluzioni

Risolvi ogni problema. Risposte
D (3)-1=_ -4 L A
2 4-(2)=_6 2 6
) (3-9=_-12 s 12
4) (-96)-68= -164 A -164
5 584+ (-211)= 373 5 373
6) (-459) + (-635) = -1.094 6. -1.094
7) 533-(-589)= 1.122 . 1.122
8 (D-(7)=_6 6 6
9 71-(-50)= 121 o 121
10) (-504) +(-133)=__-637 _ 0. -637
1) (-3)+8= 5 1 S
12) 354-(-322)= 676 . 676
13) (-84)+29= -55 13 -55
14) (6)+9=_ 3 14, 3
15 ()-(5)=_4 5 4
10 9-(6)=_15 6 15
) (D+(=_-7 v T
18 6-(3)=_9 . 9
19) (-908)-(-991)= 83 10, 83
20) 902 +(-347)= 555 o 555
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